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Question 1
Measarements and observations
Readings (6 observations)
Write the number of readings as a ringed total by the results table [3]

Check a value of the V*. Tick if correct.
If incorrect, write in correct value and — 14
Check a vaiue for Sm 8. Tick if correct.
If incorrect, write in correct value and — 1.
lgnore small rounding errors.
6 sers of readings scores 3 marks.
5 sets of readings scores 2 marks.
4 sets of readings scores 1 marks etc. . - -
If help given by supervisor then — 1, excessive help the - 2.
If help was given from the supervisor then write ‘SR’ in a ring at the top of the
front page of the candidate’s § script. Also, please indicate the type of help given
i a written comment by the table of results,

" ) 3 : L
Repeated measurements of t and finding averages | . . [1]

g

(Bality of results ] .
Judge by scatter of points about the lines of best fit. (1]

Zresentation of Resuits

Column headings [1]
Every co]umn must be headed with a quantity and a correct unijt
Allow & in ° or a solidus notation occupying two lines. 6/°

3o not allow 8° or just 8 (withnot unit).

nsistency of raw readings given in the table of results . ‘ [1]

Ap pl) to raw values of t and Bonly. .-~ = '

All readings of a particular quantity must be given to the same decrree of
precision (e.g. if one value oft+is measured to 2° .p¢then all values oft! should
be given to 2 d.p.),

Write v at the foot of the column for each correct column of raw readings.
Ring any inconsistency noted, write X, at the foot of the column, and — 1.

SF in calculated quantities ' [1]
Appiy 1o V7 and Sin* 6 ' ' |
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Graphical Work

iy G1, G2, G3 to first graph onty

I
1o 2%
g
7]

against Sin” @ A (1]
Euch must be labelled with a correct symbol for description. Ignore units
Scales must be such that the plotted occupy more than half the graph grid
in poth the x and v directions .
Do not allow > 3 large squares between scale markings on an axis.
Don not allow awkward scales (g3 10 7 1 8 10 etc.)

i -~

b

Ploting of points [
Count the number of piots on the grid and write this value by the ling and ring it

o not allow plots in the margin area .

Zplots only will lose this mark

Check one suspect plot. Cirele this plot. Tick if correct.

If incorrect, mark the correct position with a small cross and usz an arrow to indicate where
ke plots have been

Allow errors to half a small square.

14 plots have been done then no checking is required.

-
[S—

vine of best fit - [1]
Cnly a drawn straight line through linear trend is allowable for this mark

This mark can only be awarded for 5 _or more plots on the grid.

There must be a reasonable balance of points about the line which has been drawn.
Do not allow a line which is greater than half a small square thickness °

Measurement of gradient i [1]
{gnore units '

Hypotenuse of A must be > half length of line drawn

Check the read-offs. Work to half a small square.

Do not allow haif Ax/Ay.
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Zaper number

analysi
Az Gradient = k [
AZ k= gradient ; correct units m /s2 [1]
(A) value and correct unir om’)
A3 Correct method to find C correct umt m; or cm® or mm?, : . L
o oy,
5+ >
A4 Correct read-off for 6 =15° -, b [2]
' finding '\/CRO
AS Vdnduy and piaus:blc descnptlon €. g glaph shows that the physical equation
is consistent within experlmentaf error, for the tested range. - [1]
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Physics Practical Test

Papér number

Question 2

M1

M2

M3

eadings (6 sets ) 4]
Write the number of readings as a ringed total by the results table
Check a value for 1/7. Tick if correct.
If incorrect, write in correct value and — 1.

" Check a value of R. Tick if correct. L AL

If incorrect, write in correct value and — 1.

Ignore small rounding errors.

6 sets of readings scores 4 marks.

5 sets of readings scores 3 marks.

4 sets of readings scores 2 marks etc. ) 4 B

If help given by supervisor then — 1, excessive help the — 2.

If help is given from the supervisor then write ‘SR’ in a ring at the top of the
front page of the candidate’s script. Also, please indicate the type of help given
in a written comment by the table of results
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Quality of results [1]
Judge by scatter of points] about the lines of best flt

. gustification of sf of 1/ fo be related to Raw I/ =1 no. of sf of . [1]

i

Presentation of Results

R1

[—
A

-

Column headings
Every column must be headed with a quantity and a correct unit I )

Allow /I / A™', I''/A™ or a solidus notation occupymg two lines. 9/" g 4 g #
Do not allow [~ A or just I (with not unit).

" Consistency of raw readings given in the table of results. [1]

Apply to raw values of / only. "

All readings of a particular quantity must be given to the same degree of
precision (e.g. if one value of .£is measured to 2 d.p. then all values of I should
be given to 2 d.p.).

Write V. at the foot of the column for each correct column of raw readings.
Ring any inconsistency noted, write X, at the foot of the column, and — 1.
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Physics Practical Test

Graphical Work

Applly G1, G2, G3 to first graph only

51

G2

G3

G4

Axes

Each must be labelled with a correct symbol for dcscnpt]on [gnore units
Scales must be such that the plotted occupy more than half the graph grid
In both the x and y directions

Do not allow > 3 large squares between scale markings on an axis.

Don not allow awkward scales (e.g.3; 10; 7; 10; 8; 10etc.)

Plotting of points ‘ &
Count the number of plots on the grid and write this value by the line and ring it
Do not allow plots in the margin area

ﬁlotq only will losejthxs mark

&£heck one suspect plct Circle this plot. Tick if correct.

If incorrect, mark the correct position with a small cross and use an arrow to indicate
where the plots have been

Allow errors to half a small square.

If 4plots have been done then no checking is required.

Line of best fit
Only ad drawn straight line through linear trend is allowable for this mark
s Ean
This mark can only be awarded for 5 or more plots on the grid.
There must be a reasonable balance of points about the line which has been drawn.

. Do not allow a line which is greater than half a small square thickness

- Measurement of gradient

Ignore units

Hypotenuse of A must be > half length of line drawn )
Check the read-offs. Work to haif a small square. - Lok Car e
Do not allow half A,\/Ay T e Ve F\A SIS -
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Paper number

Analysis
1 s
' Gradiont = m Als
Al ' Gradient = T E - .

A2

A3

A4

1

2 = ————; correct unit (= 3,0V)
Gradient

ey ) B obeattion
Utiseb BV - L. .1,_-._»« st L

Determining %E correct method of finding intercept

value for r = E x intercept and correct unit

Special cases

51

(5]
n

(1

[1]

[1]



Al

>

Bl

Ll
)

; 3

Dl

Loy
"J ;r IV\‘\‘ -
{ ;
L

Workable arrangement

Diagrams showing bulb, disc, voltmetelf Al nmetel/ Galvanometer etc/AW 14
- ('O""‘P?f-i* Lot s T L - (ot > G -—-"J‘
| J Ll

For fixed Bulb and surface area exposed ete. : iy
St ’ )

Vary height/ mtens ty/ AWA; wxmiuwm%wwni’f{,a et R

= Lo o e e e e e

~Hord{ixed hemht and area,vary.| the p _ ;61 and measure V- or I/-AW SEE
For fixed height 3]% intensity“’f* E M "'-“‘"V“PD;AQLJ& ; [1]
Vary the surface area. of the diode and measure I[/V AW ' 1]
For fixed heigh?f'intensity and surface area of diode , [1]

Vary the filt ~————"""_————erand take measurements of 1‘,““\?, AW, ¢ 2

el
é | nfeiasat \’V\{»_
correct methods of varying the variables MW [1]-
fegeab ], ffu(o ' //__,__4 SMM PPPPP L4
measmabl it fsurface area, 1I]t6nSJtV1helffht AW Lwttmw ool oo 1 3
sildce [
Pio e RSV =it T :
precautions — plausible L T a.,u O . (1]
buJ 3}‘:«0 b’
- use of high sensitive measuring instruments.
- Precision meaéuring instruments
* Nano-ammeter
Coulombmeter etc; AW, ' A 2]
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